Fitting the costheta distribution

Set costheta function = [0]*(1 + [1]*x + x*x), where [1]=8/3 *A_FB

With MCP, fitted [1] = 0.04463 £ 0.00251, so AFB = 0.01674 + 0.00094
Counting AFB = (5603202-486798)/(503202+486798) = 0.01657 £ 0.00100
Compatible within statistical uncertainty

Present it as an alternative method?

o Statistical uncertainty of each fit is large (only 1M events), so it’s hard to estimate syst. Un.
compared with the counting method

1 d 0

o do -
dcos9 gp = dcosf (9) 600— Entries = 990000
0 dcosf 1 dcosf n Mean  0.01136

Std Dev  0.6322

OF =

400 Mg

and cosf is the angle of the outgoing fermion mea- §
sured relative to the incident electron direction. o[ i
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